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I. Choose the correct answer: (10x1=10)
1. Ifsin™ x + sin” y = 2?”; then cos™x + cos™ y is equal to ‘
0% 0 o
2. If sin™*x = 2 sin~! « has a solution, then
: 1 , 1
a) lal < % - Blalz3 dlel<z . dlal>% |
in~13 - cog~112 il =113 ; '
3. gm s CosT phsecT o cosec™ s equal to
o a)m byr 0. d) tan™? g
‘4. The domain of the function defined by f(x) = sin"Vx —1is
a) [1,1] - - b-11] ‘ c)[0,1] d)[-1,0] .
~ If the function f(x) = sin™ (x* — 3), then x belongs to _
ALl » b)[v2,2] o) [-2,—v2] u V2,21 d) [-2,-/2]
6. sin” (2 cos’x —1.) + cos 1 (1 — 2 sin’x ) = ' :
: 13 - T T T
23 b3 2 93
7. The equation tan™ x — cot™ x = tan™ (%) has
a) no solution _ b) Unique solution
c) tow solutions d) infinite number of solutions
8. Ifsin'lg + cosec 1 ; = 2£ ,then x is equal to
' 2) 4 _ b)5 c)2 d)3
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_‘9, sin ™! (tan%) -sin’( . ’% = '—6'- . Then x is a root of the equation.
a)x*-x-6=0 b)x*-x-12=0 o)X +x-12=0 d)xP+x-6=0
10.  sin(tan~1x),|x| < 1isequal to '
' x 1 1 x
k= v °) Vit )
IL Answer the following questions: . (3x2=6)
‘11, Find the principal value of: () cot(v3). (i) sec™(~ 25),
N U -
12. Prqve that tan (sin” X) = 77=3 for |x| <1. |
13. Find tbe value of the expression in terms of X, with the help of a reference triangle.
} i) tan( sin™* (x+ -:-) ) ' .
" III. Answer the following questions: _ 3x3=9)
'14.  Find the value of: sin (-1) + cos™? §+ cot™1 (2) '
15, Provethatg <sin™1x+2 cos'1x'_<_-322
st sin=13- cos~1 2 =sin~1 22
16.  Prove that sin™ ¢ -€0S "33 sin™" &
3x5=15)

IV. Answer the following questions: i '
17. . Find the number of solution of the equation tan™ (x— 1)+ tan™ x +tan™! (x +1 ) = tan” (3x).
18, Ifaimp,as...... a, is an arithmetic progression with common difference d, prove that

" d an-a1

tanlt:an"'1 (1+¢1d1az) + tan™?! (;Z;;H----»ftan’l (-_—1+a,.a,._1“=1+a1an

19.  solve: cossin™? (J—é;)) = sinfcot™ (%) L




